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Check the question paper for fairness of printing.
fairness, inform the Hall Supervisor immediately.

If there is any lack of

Use Blue or Black ink to write and underline and pencil to draw
diagrams.

Draw diagrams wherever necessary.

U@3l - I / PART - I

15x1=15

GO : () emensgl efamssErsEh elenwelléseay.
(ii) Gsr@ssuul(erer wrHm alenLgefled WEa b ghen_w ellenLeamuisg
Cambos(hdss GOULHLer eleLulemarb Caidg er(pseyw.
Note : (i Answer all the questions.

(id)

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

gafludued 9L Cgme mILLSHDHE Q@ 2 STIETLD.
(1) CLSM (<) LCSM
(8) (=) wHobd (<) (FF) TEM
is an example for optical imaging technique.
(a) CLSM (b) LCSM
(c) Both (a) and (b) (d) TEM
QuUTBSSIS :
(1) SEM i) @ ufore 9L
(2) TEM (i) emwCoHpliuLrg o ulmerer ClgFeseT
(3) yCermyaemeav miemCanrmadl (iii) pliufwres Gbubd
(4) PCM (iv) ewsCarurseflub ey urgCermden

(=) (1-0@), (2)-(ii), (3)-@v), (4)-(ii)
(=) (1)-0), (2)-(i), (3)-(iv), (4)-(iii)
(&) (1)-Gid), (2)-(), (3)-(v), (4)-(i)

(FF)  (1)-(idd), (2)-(id), (3)-(v), (4)-()
Match the following :

(1) SEM (i) 2 dimensional image
(2) TEM (ii) Unstained living cell
(3) Fluorescence microscope (iii) 3 dimensional image
(4) PCM (iv) Mpycobacterium tuberculosis

(&) (1)-(1), (2)-(iii), (3)-(iv), (4)-(ii)
(b)  (1)-(1), (2)-(ii), (3)-(iv), (4)-(iii)
(c) (1)-(iid), (2)-(1), (3)-(iv), (4)-(ii)
(d)  (1)-(iid), (2)-(i1), (3)-(v), (4)-(1)

8)ed 10 (psed 20 HIOLIGERES epLps Fiauge epevd GGTMSL L TsET
Blerapuii B&sb Celiwti®dearpe.

(1) Cwimigeor (<)) Svsanmed (@) CmaE (FF)  &Cermany(h
Thermometers are disinfected by immersing in for 10 to 20 minutes.
(a) Iodine (b) Alcohol (c) Mercury (d) Chloride

YemeumLd srranflaeiiey erg sanr MBS LSLILIHSSHUSDE LwemhEHmg ?

(=) prendleneanrliL] SCumeaiuib o L (<=1) Yesrmed

(@) ersdlellan ysamen(h (FF)  <=pevigenam(h&eT

Which among the following agent is used as a preservative in ophthalmic solution ?
(a) Quaternary ammonium salt (b) Phenol

(c) Ethylene Oxide (d) Aldehydes
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Yereu(meuameup ey aflwimeng) erg) ?

(<=1) Cumeremenad + CanmGameraniengd = CHTeTemendLd
(<) Cumeremanad + Game.CusL T = CaprCemerarendLd
(@) CamrCGeomeremengid + Camerentengdld = HCLITGTETNFLD
(rF) Gamerarengd + Came.CusLT = CanmGovmeranengLd
Which one of the following is correct ?

(a) Apoenzyme + Holoenzyme = Coenzyme

(b) Apoenzyme + Cofactor = Holoenzyme

(c) Holoenzyme + Coenzyme = Apoenzyme

(d) Coenzyme + Cofactor = Holoenzyme

LImedléd Cadler Urslb o 6Terg).

(1) 50 - 100% (<) 90 - 95% (@) 60 - 65% (rF) 80 - 85%
Milk contains about of casein protein.

(a) S0 - 100% (b) 90 - 95% (c) 60 -65% (d) 80 -85%

evGurr 2 pusd Csuyb mearapuirsamer LULLOSS ___ penm
LwerL (h&Emg).
(=) sMumaISHE () e @EgISD
(@) dlreu enpLFee (FF) i&mm gmiliey
method is used for preservation of sporulating micro-organisms.
(a) Drying (b) Desiccation
(c) Liquid Nitrogen (d) Agar slopes

epeneT SeT(hell STUFFMNE 2 L T&HEGD Lmdlewm
(<=1) gmOGrareer e LA (<) eopdMlur QuerflenGleig v
(@) smialursefwn 4uFACw () AUNCGWT sreCy

The bacteria which causes cerebrospinal fever
(a) Salmonella typhi (b) Neisseria meningitides

(c) Corynebacterium diphtheriae (d) Vibrio cholerae
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9.

10.

11.

12.

HSFlel essTealuiler sHens

(<=1) Gegrats edlevLr (<=1) enuilen LTeLESFT

(@) gmurl Cams (rr) Grwewr GCegen smGumym
The father of Medical Mycology is :

(a) Joseph Lister (b) Louis Pasteur

(c) Robert Koch (d) Raymond Jacques Sabouraud

LLehang epald janeantiimenl Came ipmdl ghuBidEmng.
(<) Quaflfledwid Qpm_GLL b
(<) SMUCLTaTs&sen HGWMLITTOaTE
(@) CaeimgLm 1956060
(FF)  ablevCrmiermavor GCaliaGal L b
Diaper rash is caused by the Fungi
(a) Penicillium notatum

(b) Cryptococcus neoformans

(c) Candida albicans

(d) Histoplasma capsulatum

el (haratuder Lreller @earibumss weapaw Copn@smerErn 6dlmbEsmbLa

________ G LD.

(=) sLggIb NmBEHmTDLLI (=) Bleveowimenr all(mbEHTDLI

(@) Cosew aNmbGambL () @aenLblene ablmBGEsmb4

A host in which a parasite undergoes sexual reproduction is

(a) Transport Host (b) Definite Host

(c) Reservoir Host (d) Intermediate Host

o aT@pmiy &eayCweallurflevy erearug @pHwureder 6T e
SADP&HSILHE DS

(S1) STT-FTT (<=y) pFwm sTlFFe

(@) Lib-Lib smlgsd (rF) Cpampdlu SenerTdgLd

In India, Visceral Leishmaniasis is called as
(a) Kala-Azar (b) Asian fever

(c) Dum-Dum fever (d) All of the above
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13. samm (A) : @& _CLmQwasGom emairev, LT Qapfliuey emeuFenrs euendLi-

LHSSLILIL(HeTerg).

srpewtd (R) :  SliLm Qapilivey eveuged Gndlwu @Qrligssed &pnHé woHmb
LoCGaum ebL|Brsemer Cl&memr(heTers).

(1) sapmi (A) eramug) &M HYD sTFETD (R), sapeop (A) elaréEE s

(=) smpm (A) eremig &, srrewTd (R) eTemLg Seum

(@) smpm (A) LHMID SrrenTbd (R) LSl @rar(Hd Soeum

() apmi (A) TeTLg) eum, STread (R) erarig) &

Assertion (A) : Cytomegalo virus is classified as Beta Herpes virus.

Reason (R) : Beta Herpes virus have short replicative cycle and variable host
range.

(a) Assertion (A) is true and Reason (R) explains assertion (A)
(b) Assertion (A) is true, Reason (R) is false
(c) Both Assertion (A) and Reason (R) are false

(d) Assertion (A) is false, Reason (R) is true

14. wpaeared yrou Carimer AUG, SICarm Sblwsams Gsslemns.
(=) BsHCwimenesen (<=4) < Tedleneumen
(@) sCamadluydlen (FF)  eumemeve
The principal start codon AUG, specifies the amino acid :
(a) Methionine (b) Arginine
(c) Isoleucine (d) Valine
15. , aueng 11 Bleng same antiie] edlenaruile mHLGE DG
(1) IgM (<) I8G
(@) IgE (rF) IgG HmLd IgM
In type II hypersensitivity reaction is involved.
(a) IgM (b) IgG
(c) IgE (d) IgG and IgM

[ Hmluys / Turn over
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L@ - 11 / PART - II

@MUY : eTemeuCuend gm lamésErs@ el waldsea|b. efarm oear 24 -&S
SL_L_muwnsg allenL_well&salb. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.
16. mrCGerm gisarsafler LwemUTHEET FCHEILD BTETSH T 6T(LHSIS.

Write any four applications of Nanoparticles.

17. cresLlygmer BlarCanmsslulen euamsser wWranel ?

What are the different types of Electron microscope ?

18. yemqLwmgd — euenFwmssa|b. gGasaib @ram(® ThSSISSTL(HSET (.

Define Antibiotic. Give any two examples.

19. dlaetsmanardloy — eUaNTILMISHE|LD.

Define Glycolysis.

20. urdl Aswmenswner Queaflfledler eremmmed cranan ? THSHSETL(H H(HS.

What is meant by semi-synthetic penicillin ? Give an example.

21. GLOHSMUFEFQD GTGIMTC) GTEIET ?

What is Enteric fever ?

22. o898 F5Cudulfern wmsgieu CeuafliLm®ser wreamed ?

What are the clinical features of Amoebic dysentry ?

23. GLem gs6T — euenFmISHS6eLD.

Define Dane Particle.

24. PCR Gsmpleomlugdler Lweru®hissiubmn @rear@ Wruewrer Gprdasmers dnmis.

State the two popular enzymes, employed in the PCR technique.
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L& - III / PART - III

GSOILLY : eTemauCuenid M lamésErd@ el wallEsa|b. e e 33 -&@
SLLmuwng eleLweilssa|b. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. yGermrgenen meanrGanmadluied LwiemihgSsILmHD LoGam cUamSWTe cllq &L Iq SeT
wimreney ?

What are the different types of filters used in Fluorescence microscope ?

26. cueTIHOL WHMD HegwrHnsSnHleaCw 2 erer CoumuUTHEmeT 6T(LHS)Is.

Write the differences between Anabolism and Catabolism.

27. 2 el LUSLILIHSSHSOGT BTEOGET HMID SEOSET WTene ?

What are the advantages and disadvantages of Food Preservation ?

28. st Cxrea| (PpanUilenar 2 TSIl 6T UM TLINISHSE|LD.

Define primary screening with example.

29. Caarsim — cuanUM&GSHa]|LD.

Define Chancre.

30. Gmips LOHMID WEDUPS UTPEMS FPNS eTarmred cratan ? T(HSSISSTL(H S(HsS.

What is meant by Direct and Indirect life cycle ? Give an example.

31. ULmE @Qrss sfley srssdlen SMGOEeT wrane ?

What are the symptoms of Dengue Hemorrhagic fever ?

32. 2 ML WIHMD 6TeTmmed 6Temen ? 2 miLiL] WIHDSSlen (pepmaeneTs Ll iq el (hs.

What is meant by Transplantation ? List the methods of Transplantation.

33. Lepeng L ommasd erammmed eTaiar ? F(HSHESTL(H H(HS.

What is Fungal Dimorphism ? Give an example.
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U@ - IV / PART - IV
@SN : Sjemensg laTssErs@h el wallésea,b. 5x5=25
Note : Answer all the questions.
34. () Cuev srerlgrevl meamCanmsdluier (PCM) GQowe @QumbigemwliemLL
UL e afleuil&sa]Lb.
S|606VF)
(=) MG urwm - eul L g S50 LTI (PD CPOLD Ae6TlqLIWIMgE Fal 2 ewrTey
Cargenenenit efleulGsald.
(a) Explain the working mechanism of Phase Contrast Microscope with a neat
diagram.

OR
(b) Explain antibiotic sensitivity test through Kirby-Bauer Disc Diffusion method.

35. (=) TCA spndleanw edleuféseb.
S|6V6VF)
(<) 2 amre| BhEpEFTH — GUMSLILI(NSSS.
(a) Explain TCA cycle.
OR
(b) Classify Food poisoning.

36. (=) HLM& oblew swmflinded o emer LighHlencsaner adleufldse]ib.
S|606VF)
(=) srerT BE&H LFwUBL (perp LUHD elleuflGsald.
(a) Explain the steps involved in Citric Acid Production.

OR
(b) Explain the mode of action of Cholera toxin.

37. (=) Sevarilen eblfismuGLsvdler eurpsms spnHslamw edleiflése|b.
S|6060F)
(<=y,) Crliev emeuredlen iamwliamLl 69e6T&HSHe|LD.
(a) Explain the life cycle of Ascaris lumbricoides.

OR
(b) Explain the structure of Rabies Virus.

38. (=) 2 Lamng WO STOWL FTPSH W WOlend dal 2 awTTe|sEHéE QL Gw o et
Coumium(hser wreneu ?
S|6V60F)
(=) gev Gargeanarenw afleuflé&se,b.
(a) What are the differences between Immediate and Delayed Type
hypersensitivity reaction.
OR
(b) Explain Ames test.
-00o0-





